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Fix a tree-walking automaton A.

'Two patterns and are considered A-equivalent if

for every completion jox ﬁ\ ﬁ\
()
—/

A accepts the tree A accepts the tree

/jk ;ﬁoot
() . A
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Fact. For a fixed number of ports, A-equivalence has

finitely many equivalence classes. e
O ®
(0) (&

Oa : types &Lont — Q x {g,1,..,n} x Q x {&,1,..,n}
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“acaa

Corollary. A-equivalence classes of unary patterns form a finite semigroup.

A ' A ' A -
(this semigroup does not contain all
information on the automaton)
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for nondeterministic automata,
the lemma fails for 3 ports.
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